EE 202 - 122

HW# 5 ( Due date: Monday 15.4.2013)
Dr. Mohammad AlMuhaini
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The switch in the circuit shown above has been closed for a long time before opening at t=0s.
fort >0, find:

a) Velt)
b) I(t)
c) Volt)
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The switch in the circuit shown above has been in position a for a long time before switching to
position b at t=0 s. Find:



a) V(0

b) V((t) fort=0

c) Vc(oo)

d) Time constantfort>0
e) lg(t) fort=0
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The switch A in the circuit shown above has been open and switch B has been closed for a long
time. At t=0, switch A closes. After 6 seconds, switch B opens. Find I (t) fort > 0.
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The switch A in the circuit shown above has been open and switch B has been closed for a long
time. At t=0, switch A closes. At t = 5 milliseconds, switch B then closes. Find V(t) for t > 0.



